
Remove the (6) plastic push pins securing the factory 
splash shield to the vehicle. (4) Across the front edge, 
(2) on the rear edge.

 

Stubby Front Bumper
07-18 JK

From under the vehicle, access and remove the (8) 
18mm nuts securing the factory bumper to the vehicle.

From under the vehicle, remove the factory fog light 
connectors and free the fog light wiring loom from the 
bumper. 

Remove the (8) 7mm screws securing the foglights to 
the factory front bumper. 

From under the vehicle, access and remove the (8) 
18mm nuts, and (4) 18mm bolts securing the factory 
bumper to the vehicle. Then fully remove the bumper 
from the vehicle. 

1

2 4

5

J126730

3



6

Install the optional lightbar mount, or the (2) block off 
plates to the bumper by using the (6) M10 x 30mm 
bolts, (12) M10 flat washers, (6) M10 lock washers, and 
(6) M10 nuts. 

Install the bumper to the frame of the vehicle using (4) 
M10 bolts, (8) flat washers, (8) lock washers, and (4) 
nuts. Torque to 40 ft-lbs. 

8

Install the factory foglights to the new bumper using the 
(4) M4 x 15mm screws, flat washers, lock washers, and 
nuts. 

7

J126730

(1) Bumper
(1) Light Bar Mount
(2) Block Off Plates
(2) D-Rings
(6) M10 x 1.5 x 30mm Bolts
(4) M10 x 1.5 x 25mm Bolts
(14) M10 Lock Washers
(20) M10 Flat Washers
(10) M10 Nuts
(8) M4 x 0.7 x 15mm Screws

Contents:

Tools Required:
Ratchet
Socket Set
Torque Wrench
Allen Wrench
Trim Panel Removal Tool

9

Install the D-Ring brackets to the bumper. Plug the 
factory foglight harness into the foglights. Installation is 
complete. 


